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Tha following SAS pragram i subrmittad

data LOCF ¢
3L SICOre ;
Dy =ubject wisitn :
cansart oode hepés
cun ;

Resulting in this LOCF data set.

=ubject visitn wvimit Acore LOCF
a1 | Meelk O 151 151
a1 1 LT 150 150
ool 2 Week 4 i 150
001 ] Week 6 157 187
[nla ] 4 Weelk O 155 155
Qi ] Week 10 . 155
oo o Weak L2 155
(b ? Followap 152 152

Variable LOCF contains the imputed score that would replace the missing SCORE value (based
on last observation carried forward method). Which SAS statements complete the program?

A. LOCF =lag(score) ;

if first.subject then LOCF = . ;

if score *= . then LOCF = score ;
B. retain LOCF ;

if first.subject then LOCF = . ;

if score *= . then LOCF = score ;
C. iffirst.subject then LOCF = . ;

if score = . then LOCF = lag(score) ;
D. retain score ;

if first.subject then LOCF = . ;

if score A= . then LOCF = score ;

Correct Answer: B
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QUESTION 18
The following SAS program is submitted:

data work. =um;
numl=1;:
nuns=' '
numi=numl $nums -
;g

What will be the result when the program executes?

A. num3 assigned a value of 0

B. An error due to mixed variable types in the assignment statement.
C. numa3 assigned a missing value

D. num3 assigned a value of 1

Correct Answer: C

QUESTION 19
A SAS report procedure results in the log below.

1} proc report dats=vicals
it column patid vizit height weight 2yvsbp diabp :
15 run ;

NOTE: Nultiple concurrent threadz will be uzed to summarize data.
NOTI: There were 26 chservations read from the data zer WORK.VITLLS.
HOTE: At least one W.D formal was too small for the number to be printed. The
decimal may be shifted by the "BEST" format.
NOTE: The PROCEDURE REPCET printed page 1.
NOTE: PROCELURE REPCRT uzed (Totasl process cime):
real time 0.01 seconds
Cpu time 0.01 =econds

What should you add to the PROC REPORT to address the blue note in this log?

A. Specify COLWIDTH= option with a value large enough to print all values in the data

B. Use DEFINE statements where FLOW is specified for each numeric variable

C. Use DEFINE statements with the WIDTH= option set large enough to print all values for each
variable

D. Use a FORMAT statement with formats large enough to print all values for each numeric variable

Correct Answer: D
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QUESTION 20
Given the following data set DEMOG:

SITE FATID DOB SEXCD  RACECD TRTENT
1 1 11/25/1944 2 1 1
1 2 11/01/1972 1 1 4
1 3 10/13/1969 ¢ 1 1
1 4 05/18/1458 2 ] Z
1 10 05/24/19499 2 ] 1
2 ! 03/15/1974 { 2 1
2 2 01/04/1983 2 ) Z
; i 1272271943 1 1 1
Z 4 12/26/1974 1 9 2
Z 5 10/04/ 1956 1 1 1
2 10 07/05/ 1369 1 Z 2

Which selection below would be considered hard-coding?

A. ifsite eq 1thensexcd =2;
else if site eq 2 then sexcd =1 ;
B. if site eq 1 and sexcd ne 2 then check =1 ;
else if site eq 2 and sexcd ne 1 then check = 2 ;
C. ifsexcd eq 1 then sex = "Male";
else if sexcd eq 2 then sex = "Female" ;
D. birthdt = input(dob, mmddyy10.) ;

Correct Answer: A

QUESTION 21
This question will ask you to provide a line of missing code. Given the dataset RAWBP that is
sorted by SUBJECT TEST WEEK:
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SUBJECT WEEK TEST VALUE
101 0 beP 180
101 1 bEP 140
101 P DEP 130
101 K| .1 120
101 o SBF 50
101 l SBP B7
101 2 SBP B85
101 3 3BP go

The foliowing SAS program s subrmatled

data bp:
=et ravhp:
by mubject test week:
retain baseline;
if firat.teat then baseline = .;
if week = O then baseline = value;
else if week > 0 then do;
<insert code heras
end:
run:

Which statement must be added to the program to calculate relative change in percent (percent
change) from baseline?

pct_chg = ((baseline - value) /baseline)*100;
pct_chg = ((value - baseline) /baseline)*100;
pct_chg = ((baseline - value) /value)*100;
pct_chg = ((value - baseline) /value)*100;

oow>

Correct Answer: B

QUESTION 22
This question will ask you to provide a line of missing code.
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Gxven the 0llowang log entry

45 cdata mi=l ;

45 werge dm [1ti= 1rcke)

47 di=sp (in=indi=p):
48 by sukyid ;

449 cansert code herer

50 run ;

NERGE I33VE: subjid~202 inde=~1 i1ndizp=0
MERGE ISSUE: 2ub)id=005 tnde=0 indisp=-l
MOTE: There were 4 observations resd frow the data et WORE.DN.
HOTE: There were 4 obzervarions= read from the data set WORK.DISP.
HOTE: The data aest WORK. AD3L hasz 5 observations and J variables.
HOTE: DATA statement used {Total process time|:

real rima 0.07 =zecands

CPu time 0,01 =seconds

Which line of code would produce the blue notes in the log?

A. %if indm ne indisp %then %put 'MERGE ISSUE: ' subjid= indm= indisp=;
B. if indm ne indisp then output 'MERGE ISSUE: ' subjid indm indisp ;

C. ifindm ne indisp then put 'MERGE ISSUE: ' subjid= indm= indisp=;

D. if indm ne indisp then put 'MERGE ISSUE: ' _all_;

Correct Answer: C

QUESTION 23
Given the SAS data set containing subject's phone numbers
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